

Hyponormality of Toeplitz Operators with Trigonometric Polynomial Symbols

Huwaida Elsiddig Haroun

Department of Mathematics, Faculty of Science, Tabuk University, Branch of Tyimaa, Kingdom of Saudi Arabia
hoiyda2007@gmail.com

Abstract

For a trigonometric polynomial φ of the form $\varphi(e^{i\theta}) = \sum_{n=-M}^N a_n e^{in\theta}$ Where a_{-m} and a_N are nonzero. In this paper, we show that the Toeplitz operator T_φ is hyponormal if and only if $m \leq N$ and $|a_{-m}| \leq |a_N|$

Keywords: Toeplitz Operators, Hyponormality, Trigonometric Polynomial.

1. Introduction

For φ is a trigonometric polynomial $\varphi(e^{i\theta}) = \sum_{n=-M}^N a_n e^{in\theta}$, in the present paper we study the hyponormality of T_φ in the cases where φ is a trigonometric polynomial here is to find conditions on the coefficients a_n that are necessary and sufficient for T_φ to be hyponormal.

An elegant and useful theorem of C. Cowen [7] characterizes the hyponormality of Toeplitz operators T_φ on Hardy space $H^2(T)$ of the unit circle $T \subset \mathbb{C}$ by properties of the symbol $\varphi \in L^\infty(T)$.

An operator T is said to be hyponormal if its selfcommutator $[T^*, T] = T^*T - TT^*$ is positive (semidefinite). A. Brown and P. R. Halmos [3] study the relationship between the symbol $\varphi \in L^\infty$ and the positivity of the selfcommutator $[T^*, T]$.

2. Theorem (1): For each $\varphi \in L^\infty$ let

$\mathcal{E}(\varphi) = \{k \in H^\infty : \|k\|_\infty \leq 1 \text{ and } \varphi - k\bar{\varphi} \in H^\infty\}$ A Toeplitz operator T_φ is hyponormal if and only if the subset $\mathcal{E}(\varphi)$ of H^∞ is nonempty.

2.1 Remark (1): Let φ be the trigonometric polynomial $\varphi(e^{i\theta}) = \sum_{n=-N}^N a_n e^{in\theta}$, where

$a_N \neq 0$, and let $k \in H^\infty$ satisfies $\varphi - k\bar{\varphi} \in H^\infty$, then k necessarily satisfies

$$k \sum_{n=1}^N \bar{a}_n e^{-in\theta} - \sum_{n=1}^N a_{-n} e^{-in\theta} \in H^\infty \quad (1)$$

(i) The computation of Fourier coefficients $\hat{k}(0), \dots, \hat{k}(N-1)$ of k is: $\hat{k}(n) = c_n$, for $n=0, 1, \dots, N-1$, Where c_0, c_1, \dots, c_{N-1} are determined uniquely from the coefficients of

φ by the recurrence relation $c_0 = \frac{a_{-N}}{\bar{a}_N}$

$$c_n = (\bar{a}_N)^{-1} \left(a_{-N+n} - \sum_{j=0}^{n-1} C_j \overline{a_{N-n+j}} \right), \text{ for } n=1, \dots, N-1 \quad (2)$$

(ii) Therefore if $k_1, k_2 \in \mathcal{E}(\varphi)$, then $c_n = \hat{k}_1(n) = \hat{k}_2(n)$ for all $n=0, 1, \dots, N-1$, and

$k_p(z) = \sum_{j=0}^{N-1} c_j Z^j$, the unique (analytic) polynomial of degree less than N satisfying

$\varphi - k\bar{\varphi} \in H^\infty$.

(iii) Conversely, if k_p is the polynomial $k_p(z) = \sum_{j=0}^{N-1} c_j z^j$, where c_0, c_1, \dots, c_{N-1} are determined from the recurrence relation (2), then for every integer $n > 0$, the Fourier coefficients $\varphi - k \bar{\varphi}(-n)$ of $\varphi - k \bar{\varphi}$ satisfy

$$\varphi - k \bar{\varphi}(-n) = a_{-n} - \sum_{j=0}^{N-n} c_j \overline{a_{n+j}} = \left(a_{-n} - \sum_{j=0}^{N-n-1} c_j \overline{a_{n+j}} \right) - c_{N-n} \overline{a_N} = 0, \text{ Which implies that } \varphi - k_p \bar{\varphi} \in H^2. \text{ But since } \varphi - k_p \bar{\varphi} \text{ is a polynomial, it follows that } \varphi - k_p \bar{\varphi} \in H^\infty.$$

2.2 Remark (2): However the relation (2) can always be solved uniquely to produce an analytic polynomial k_p satisfying $\varphi - k_p \bar{\varphi} \in H^\infty$, the polynomial k_p need not be contained in the set $\mathcal{E}(\varphi)$, even if $\mathcal{E}(\varphi)$ is known to be nonempty.

2.3 Example: Consider the trigonometric polynomial $\varphi(e^{i\theta}) = e^{-i2\theta} + 2e^{-i\theta} + e^{i\theta} + 2e^{i2\theta}$

Solving the recurrence relation (2) produces the polynomial $k_p(z) = \frac{1}{2} + \frac{3}{4}z$ which has norm $\|k_p\|_\infty = \frac{5}{4} > 1$ making k_p ineligible for membership in $\mathcal{E}(\varphi)$.

On the other hand, a straight forward calculation shows that the linear fractional

transformation $b(z) = \frac{z + \frac{1}{2}}{1 + \frac{1}{2}z}$ satisfies $\varphi - b \bar{\varphi} \in H^\infty$, as b maps the unit circle onto itself,

b has norm $\|b\|_\infty = 1$. Thus $b \in \mathcal{E}(\varphi)$ and so T_φ is hyponormal. And Fourier series of

b , namely $b(e^{i\theta}) \sim \frac{1}{2} + \frac{3}{4}e^{i\theta} - \frac{3}{2} \sum_{j=2}^{\infty} \left(-\frac{1}{2}\right)^j e^{ij\theta} = k_p(e^{i\theta}) + h(e^{i\theta})$, Converges uniformly on

(\mathbf{T}) to b and b is a finite Blaschke product.

Proof. $\varphi(e^{i\theta}) = \sum_{n=-N}^N a_n e^{in\theta}, a_N \neq 0, c_0, c_1, \dots, c_{N-1} = c_0 = \frac{a_{-N}}{a_N}$

$$c_n = (\bar{a}_N)^{-1} \left(a_{-N+N} \sum_{i=n}^{n-1} c_j \bar{a}_{N-n+j} \right), n = 1, \dots, N-1$$

$$k_p(z) = \sum_{j=0}^{N-1} c_j z^j = c_0, c_1 \dots c_{N-1},$$

$$a_{-N} e^{-iN\theta} = e^{-iz\theta} \Rightarrow a_{-N} = \frac{e^{-2i\theta}}{e^{-iN\theta}}, a_N e^{iN\theta} = e^{i2\theta} \Rightarrow a_N = \frac{2e^{i2\theta}}{e^{iN\theta}}, \bar{a}_N = \frac{e^{-i2\theta}}{e^{-iN\theta}}$$

$$c_0 = \frac{a_{-N}}{\bar{a}_N} = \frac{e^{-i2\theta}}{e^{-iN\theta}} \times \frac{1}{2} \frac{e^{-iN\theta}}{e^{-i2\theta}} = \frac{1}{2},$$

$$c_1 = (\bar{a}_N)^{-1} (a_{-N+1} - c_0 \bar{a}_{N-1})$$

$$a_{-N+1} e^{i(-N+1)\theta} = 2e^{-i\theta} \Rightarrow a_{-N+1} = \frac{2e^{-i\theta}}{e^{i(-N+1)\theta}}$$

$$a_{-N-1} e^{i(-N+1)\theta} = e^{i\theta} \Rightarrow a_{-N-1} = \frac{e^{i\theta}}{e^{i(-N+1)\theta}}$$

$$c_1 = \frac{1}{2} \frac{e^{i2\theta}}{e^{-iN\theta}} \left[\frac{2e^{-i\theta}}{e^{i(-N+1)\theta}} - \frac{1}{2} \frac{e^{-i\theta}}{e^{i(-N+1)\theta}} \right] = \frac{3}{4} z \quad (z = e^{i\theta})$$

$$k_p = c_0 + c_1 z = \frac{1}{2} + \frac{3}{4} z. \text{ satisfying } \varphi - k_p \bar{\varphi} \in H^\infty, \text{ where}$$

$$\varphi(e^{i\theta}) = e^{-i2\theta} + 2e^{-i\theta} + e^{i\theta} + 2e^{i2\theta}$$

3. Main results

3.1 Theorem (2): suppose that φ is a trigonometric polynomial of the form

$\varphi(e^{i\theta}) = \sum_{n=-m}^N a_n e^{in\theta}$, where a_{-m} and a_N are nonzero. If T_φ is hyponormal, then $m \leq N$ and $|a_{-m}| \leq |a_N|$.

Proof. Suppose T_φ is hyponormal, then φ is trigonometric polynomial under certain assumption about the coefficients $\varphi(e^{i\theta}) = \sum_{n=-m}^N a_n e^{in\theta}$ where $|a_N| \neq 0$, let k satisfies $\varphi - k_p \bar{\varphi} \in H^\infty$ then necessarily satisfies (1), then from (2) $-m \leq N$.

$$\varphi(e^{i\theta}) = \sum_{n=-m}^N a_n e^{in\theta} = a_{-m} e^{-im\theta} + a_{-m-1} e^{-i(m+1)\theta} + a_{-m-2} e^{-i(m+2)\theta} + \dots + a_N e^{iN\theta}$$

Since a_{-m} and a_N are nonzero, let c_0, \dots, c_{N-1} be the solution of (2) because $|a_N| \neq 0$, we have $|c_{N-m}| = |a_{-m}|/|a_N|$, then there is a function $k \in \mathcal{E}(\varphi)$ such that $k(N-m) = c_{N-m}$ thus $1 \geq \|k\|_\infty \geq |c_{N-m}| = |a_{-m}|/|a_N|$ which implies that $|a_{-m}| \leq |a_N|$.

3.1.1 Proposition: If $\varphi(e^{i\theta}) = \sum_{n=-N}^N a_n e^{in\theta}$, where $a_N \neq 0$, and if $c_0, c_1, \dots, c_{N-1} \in \mathcal{C}$ are obtained from the coefficients of φ by solving the recurrence relation (2) then the Toeplitz operator T_φ is hyponormal when

$$\sum_{j=0}^{N-1} |c_j| \leq 1 \tag{3}$$

Proof. $c_0 = \frac{a_{-N}}{a_N}$, $c_n = (\bar{a}_N)^{-1} \left(a_{-N+n} - \sum_{j=0}^{n-1} c_j \overline{a_{N-n+j}} \right)$, $n = 1, \dots, N-1$

$\varphi(e^{i\theta}) = \sum_{n=-N}^N a_n e^{in\theta}$, $k_p(z) = \sum_{j=0}^{N-1} c_j z^j$ satisfies $\varphi - k_p \bar{\varphi} \in H^\infty$ from that $\|k_p\|_\infty \leq 1$, then $\|k_p\|_\infty \leq \sum_{j=0}^{N-1} |c_j| \leq 1$, then $k_p(z) \in \mathcal{E}(\varphi)$ and so from the Cowen's Theorem T_φ is hyponormal.

3.1.2 Remark (1): If $\varphi(e^{i\theta}) = \sum_{n=-N}^N a_n e^{in\theta}$ where $|a_j| \leq |a_N|$, for all $j = 2, \dots, N-1$, then from the recurrence relation (2) we have $\sum_{j=0}^{N-1} |c_j| \leq |c_0| + |a_N|^{-2} \sum_{n=1}^{N-1} 2^{n-1} |D_n|$, Where $D_n = \det \begin{pmatrix} a_{-n} & a_{-N} \\ \bar{a}_n & \bar{a}_N \end{pmatrix}$. Therefore if $\sum_{n=1}^{N-1} 2^{n-1} |D_n| + |a_{-N} a_N| \leq |a_N|^2$, (4) Then by proposition (6), T_φ is hyponormal. Because the left – hand side of (4) depend on $\overline{a_{-N}}$ and a_N and the right – hand side depends on $|a_N|^2$, it follows that T_φ is hyponormal whenever $|a_N|$ is sufficiently large . In particular, the Toeplitz operator with symbol $\varphi + \lambda e^{iN\theta}$ is hyponormal whenever $\lambda \in \mathcal{C}$ is such that

$$|\lambda| \geq \sum_{n=1}^{N-1} 2^{n-1} (|a_{-n}| + |a_n|) + |a_{-N}| + |a_N|$$

Proof. Let $\varphi(e^{i\theta}) = \sum_{n=-N}^N a_n e^{in\theta}$ and $|a_j| \leq |a_N|, j = 2, \dots, N-1$ from (2)

$$\frac{|a_{-N}|}{|\bar{a}_N|} + |a_N|^2 \sum_{n=1}^{N-2} 2^{n-1} |D_n|$$

$$|D_n| = (a_{-n} \bar{a}_N - a_{-N} \bar{a}_n)$$

$$c_0 = \frac{a_{-N}}{\bar{a}_N} \quad (i)$$

$$c_1 = (\bar{a}_N)^{-1} (a_{-N+1} - c_0 a_{N-1}) \quad (\text{ii}) \rightarrow c_1 = (\bar{a}_N)^{-1} \left(a_{-N+1} - \frac{a_{-N}}{\bar{a}_N} a_{N-1} \right)$$

$$c_2 = (\bar{a}_N)^{-1} (a_{-N+2} - c_1 a_{N-2+1}) \quad (\text{iii}) \rightarrow c_2 = (\bar{a}_N)^{-1} (a_{-N+2} - c_1 a_{N-2+1})$$

$$c_3 = (\bar{a}_N)^{-1} (a_{-N+3} - c_2 a_{N-3+2}) \quad (\text{iv}) \rightarrow c_3 = (\bar{a}_N)^{-1} (a_{-N+3} - c_2 a_{N-3+2})$$

·
·
·

$$c_n = (\bar{a}_N)^{-1} \left(a_{-N+n} - \sum_{j=0}^{n-1} c_j a_{N-n+j} \right) \quad (\text{v})$$

From (v) $\sum_{j=0}^{n-1} |c_j| \leq 1$

3.1.3 Remark (2): If $a_{-N} = \dots = a_{-2} = 0$, then the solution to the recurrence relation (2) is $c_0 = \dots = c_{N-2} = 0$ and $c_{N-1} = a_{-1} / \bar{a}_N$, thus the analytic polynomial.

$k_p \in H^\infty$ is $k_p(z) = (a_{-1} | a_N)^{N-1} z$. Therefore the norm of every $k \in H^\infty$ that satisfies $\varphi - k \bar{\varphi} \in H^\infty$ is such that $\|k\|_\infty \geq \left| \frac{a_{-1}}{\bar{a}_n} \right| = \|k_p\|_\infty$.

Therefore, T_φ is hyponormal if and only if $|a_{-1}| \leq |a_N|$.

The following theorem and corollary concern the extremal cases: $|a_{-m}| = |a_N| \neq 0$

Proof. $a_{-N} = \dots = a_{-2} = 0$. then the solution is $c_0 = \dots = c_{N-2} = 0$ $c_{N-1} = \frac{a_{-1}}{a_N}$, thus

$$k_p \in H^\infty = \sum_{j=0}^{N-1} c_j z^j, \quad c_0 = \frac{a_{-N}}{\bar{a}_N} \quad \text{since} \quad c_{N-m} = \left| \frac{a_{-m}}{\bar{a}_N} \right| \quad \text{implies that} \quad c_{N-1} = \left| \frac{a_{-1}}{\bar{a}_N} \right|, c_{N-2} = \left| \frac{a_{-N-2}}{\bar{a}_N} \right|$$

implies $\sum_{j=0}^{N-2} |c_j| \leq 1$ from the proposition (6) and $\|k_p\|_\infty \leq \sum_{j=0}^{N-1} |c_j| \leq 1$, since $1 \geq \|k\|_\infty \geq \|c_{N-n}\|$

$$\text{thus } \|k\|_\infty \geq \left| \frac{a_{-1}}{\bar{a}_N} \right| = \|k_p\|_\infty.$$

Therefore, T_φ is hyponormal if and only if $|a_{-1}| \leq |a_N|$.

3.2 Theorem (3): There exists a finite Blaschke product $b \in \mathcal{E}(\varphi)$ of degree equal to the rank of $[T_\varphi^*, T_\varphi]$.

3.3 Theorem (4): Suppose that $\varphi(e^{i\theta}) = \sum_{n=m}^N a_n e^{in\theta}$, where $m \leq N$ and $|a_{-m}| \leq |a_N| \neq 0$,

and let $\mathcal{E}(\varphi) \subset H^\infty$ be the subset of all $k \in H^\infty$ for which $\|k\|_\infty \leq 1$ and $\varphi - k \bar{\varphi} \in H^\infty$. The following statements are equivalent.

(a) The Toeplitz operator T_φ is hyponormal.

(b) For all $k = 1, \dots, N-1$, $\det \begin{pmatrix} \frac{a_{-(m-k)}}{a_{N-m+1}} & \frac{a_{-m}}{a_N} \\ \frac{a_{-m}}{a_N} & \frac{a_{-m}}{a_N} \end{pmatrix} = 0$.

(c) The following equation in \mathcal{C}^m holds:

$$\overline{a_N} \begin{pmatrix} a_{-1} \\ a_{-2} \\ \vdots \\ \vdots \\ a_{-m} \end{pmatrix} = a_{-m} \begin{pmatrix} \overline{a_{N-m+1}} \\ \overline{a_{N-m+2}} \\ \vdots \\ \vdots \\ \overline{a_N} \end{pmatrix} \quad (5)$$

$$(d) \mathcal{E}(\varphi) = \left\{ a_{-m} (\overline{a_N})^{-1} z^{N-m} \right\}.$$

Moreover, if T_φ is hyponormal, then the rank of $[T_\varphi^*, T_\varphi]$ is $N-m$.

Proof. Let c_0, \dots, c_{N-1} be the solution to (2); because $|a_{-m}| = |a_N| \neq 0$, we have $|c_{N-m}| = 1$. Note that if $m < N$, then $c_0 = \dots = c_{N-m-1} = 0$. If a function $k \in H^\infty$ satisfies $\varphi - k \bar{\varphi} \in H^\infty$, then the Fourier series expansion of k is

$$k = \sum_{j=0}^{N-1} c_j e^{ij\theta} + \sum_{n=N}^{\infty} b_n e^{in\theta} \text{ for some set of } b_n \in \mathbb{C}.$$

From fact $\|k\|_\infty \geq \|k\|_2$ we have $\|k\|_\infty \geq |c_{N-m}| = 1$; if for some $j > (N-m)$ or $n \geq N$ there is a nonzero Fourier coefficient c_j or b_n of k , then $\|k\|_\infty \geq \max \left\{ \sqrt{|c_{N-m}|^2 + |c_j|^2}, \sqrt{|c_{N-m}|^2 + |b_n|^2} \right\} > 1$.

Thus $\|k\|_\infty = 1$ if and only if c_{N-m} is the only nonzero Fourier coefficient of k . Therefore $\mathcal{E}(\varphi)$ can have at most one element: namely $c_{N-m} z^{N-m}$. Hence, statements (a) and (d) are equivalent. Now statement (a) and (b) are equivalent; clearly (b) and (c) are exact same statement. Suppose that T_φ is hyponormal. Then there exists $k \in \mathcal{E}(\varphi)$ and $k(z) = c_{N-m} z^{N-m}$. Hence, for every $k=1, \dots, m-1$,

$$0 = |c_{N-m+k}| = \left| \frac{1}{a_N} (a_{-(m-n)}) - c_{N-m} \overline{a_{N-k}} \right| = \left| \frac{1}{a_N} \right|^2 \left| \det \begin{pmatrix} a_{-(m-k)} & a_{-m} \\ a_{(N-k)} & a_N \end{pmatrix} \right|.$$

Conversely, if $\det \begin{pmatrix} a_{-(m-k)} & a_{-m} \\ a_{(N-k)} & a_N \end{pmatrix} = 0$ for all $k = 1, \dots, N-1$ then

$$|c_{N-m+1}| = \left| \frac{1}{a_N} (a_{-(m-1)} - c_{N-m} \overline{a_{N-1}}) \right| = \left| \frac{1}{a_N} \right|^2 \det \begin{pmatrix} a_{-(m-k)} & a_{-m} \\ a_{(N-1)} & \overline{a_N} \end{pmatrix} = 0.$$

and hence $|c_{N-m+2}| = \left| \frac{1}{a_N} (a_{-(m-2)} - c_{N-m} \overline{a_{N-2}} - c_{N-m-1} \overline{a_{N-1}}) \right| = \left| \frac{1}{a_N} \right|^2 \det \begin{pmatrix} a_{-(m-2)} & a_{-m} \\ a_{(N-2)} & \overline{a_N} \end{pmatrix} = 0.$

Inductively, we obtain $c_k = 0$ for all $k=1, \dots, N-1$. As $c_0 = \dots = c_{N-m-1} = 0$, if $m < N$ and $|c_{N-m}| = 1$, we have, that the analytic polynomial $k_p(z) = \sum_{j=0}^{N-1} c_j z^j$ is of the form $k_p(z) = c_{N-m} z^{N-m}$ and therefore $k_p \in \mathcal{E}(\varphi)$. This completes the proof that statements (i) and (ii) are equivalent.

Lastly, if T_φ is hyponormal, then $\mathcal{E}(\varphi) = \left\{ \frac{a_{-m}}{\overline{a_N}} z^{N-m} \right\}$. Because the self commutator $[T_\varphi^*, T_\varphi]$ has finite rank, ([18], theorem 10), there is only one element in $\mathcal{E}(\varphi): b(z) = \frac{a_m}{a_N} z^{N-m}$, which is a finite Blaschke product of degree $N-m$.

3.4 Corollary: suppose that $\varphi(e^{i\theta}) = \sum_{n=-m}^N a_n e^{in\theta}$, where $m \leq N$ and $|a_{-m}| = |a_{-N}| \neq 0$ and let $\varepsilon(\varphi) \subset H^\infty$ be the subset of all $k \in H^\infty$ for which $\|k\|_\infty \leq 1$ and $\varphi - k\bar{\varphi} \in H^\infty$. the following statements are equivalent :

(a) The Toeplitz operator T_φ is hyponormal .

(b) For all $k = 1, \dots, N-1$, $\det \begin{pmatrix} \frac{a_{-(m-k)}}{a_{(N-k)}} & \frac{a_{-m}}{a_N} \\ \frac{a_{-(m-k)}}{a_{(N-k)}} & \frac{a_{-m}}{a_N} \end{pmatrix} = 0$.

Proof. Suppose T_φ is hyponormal from remark (8) the analytic polynomial (ii) holds for all $k = 1, \dots, N-1$. For backward implication since $|\bar{a}_N| \neq 0$ and $|\bar{a}_{-m}| \neq 0$,

$$\det \begin{pmatrix} \frac{a_{-(m-k)}}{a_{(N-k)}} & \frac{a_{-m}}{a_N} \\ \frac{a_{-(m-k)}}{a_{(N-k)}} & \frac{a_{-m}}{a_N} \end{pmatrix} = a_{-(m-k)}\bar{a}_N - a_{-m}\bar{a}_{N-k} = a_{-m+k}\bar{a}_N - a_{-m}a_{N-k}$$

$$= a_{-m+k}\bar{a}_N - a_{-m+k}\bar{a} = 0$$

Then from proposition (6) and the remarks (7) and (8) T_φ is hyponormal

3.5 Example: T_φ is hyponormal with rank-2self commutator rank $[T_{\varphi_2}^*, T_{\varphi_2}] = 2$, $\varphi_2(e^{i\theta}) = e^{-i2\theta} + e^{-i\theta} + e^{i3\theta} + e^{i4\theta}$

Prove that T_{φ_2} is hyponormal with rank-2self commutator.

Proof. Let $c_0 = c_1 = \dots, c_{N-m-1} = 0$, $k : 1 = 1, \dots, N-1$, $\det \begin{pmatrix} \frac{a_{-(m-n)}}{a_{(N-n)}} & \frac{a_{-m}}{a_N} \\ \frac{a_{-(m-n)}}{a_{(N-n)}} & \frac{a_{-m}}{a_N} \end{pmatrix} = 0$, $\varphi(e^{i\theta}) = \sum_{n=-m}^N a_n e^{in\theta}$,

$$c_0 = \frac{a_{-m}}{a_N}, \quad c_{-m-1} = \frac{a_{-m-1}}{a_N}, \quad \frac{a_{-m-2}}{a_N} = c_{-m-2} \dots c_{-m-(N-1)} = \frac{a_{-m-(N-1)}}{a_N}$$

$$\text{Then } \begin{pmatrix} e^{-i\theta} & e^{-2i\theta} \\ e^{-i3\theta} & e^{-i4\theta} \end{pmatrix} = e^{-5i\theta} - e^{-5i\theta} = 0$$

Then T_{φ_2} is hyponormal.

3.6 Example: Applied theorem (10) to show that the Toeplitz operator with symbol

$$\varphi(e^{i\theta}) = e^{-i5\theta} - e^{-i4\theta} + e^{-i2\theta} + e^{-i\theta} + 2e^{i2\theta} - 2e^{i4\theta} + 2e^{i5\theta}$$

Whose coefficients satisfy the symmetric relation

$$\overline{a_N} \begin{pmatrix} a_{-2} \\ a_{-3} \\ \vdots \\ a_{-N} \end{pmatrix} = a_{-N} \begin{pmatrix} \overline{a_{-2}} \\ \overline{a_{-3}} \\ \vdots \\ \overline{a_{-N}} \end{pmatrix}$$

But for which there is no symmetry involving a_{-1} and a_1 is hyponormal .

Proof. $\varphi(e^{i\theta}) = \sum_{n=-N}^N a_n e^{in\theta}$

$$a_N e^{iN\theta} = 2e^{i5\theta}$$

$$\overline{a_N} = 2e^{-i5\theta} / e^{-iN\theta}$$

$$\overline{a_1} = 2e^{-i5\theta} / e^{-i\theta}$$

$$\overline{a_2} = 2e^{-i5\theta} / e^{i2\theta}$$

$$\overline{a_3} = 2e^{-i5\theta} / e^{-i3\theta}$$

$$a_{-N} e^{-iN\theta} = e^{-i5\theta} \Rightarrow a_{-N} = e^{-i5\theta} / e^{-iN\theta}$$

$$a_{-1} = \frac{e^{-i5\theta}}{e^{i\theta}}, a_{-2} = \frac{e^{-i5\theta}}{e^{i2\theta}}, a_{-3} = \frac{e^{-i5\theta}}{e^{i3\theta}}$$

$$2e^{-i5\theta} / e^{-iN\theta} \begin{pmatrix} e^{-i5\theta} / e^{i2\theta} \\ e^{i5\theta} / e^{i3\theta} \\ \vdots \\ e^{-i5\theta} / e^{-iN\theta} \end{pmatrix} = e^{-i5\theta} / e^{-iN\theta} \begin{pmatrix} 2e^{i5\theta} / e^{-i2\theta} \\ 2e^{-i5\theta} / e^{-i3\theta} \\ \vdots \\ 2e^{-i5\theta} / e^{-iN\theta} \end{pmatrix}$$

3.7 Corollary: If $\varphi(e^{i\theta}) = \sum_{n=-m}^N a_n e^{in\theta}$, then T_φ is normal if and only if $m = N$, $|a_{-N}| = |a_N|$

and $\overline{a_N} \begin{pmatrix} a_{-1} \\ a_{-2} \\ \vdots \\ \vdots \\ a_{-N} \end{pmatrix} = a_{-N} \begin{pmatrix} \overline{a_1} \\ \overline{a_2} \\ \vdots \\ \vdots \\ \overline{a_N} \end{pmatrix}$ (6)

Proof. If $m = N$, $|a_{-m}| = |a_N|$, and let $\det \begin{pmatrix} a_{-(m-k)} & a_{-m} \\ \overline{a_{(N-k)}} & \overline{a_N} \end{pmatrix} = 0$ for all $k = 1, \dots, N-1$, then

by Theorem (11), T_φ is hyponormal and $\text{rank} [T_\varphi^*, T_\varphi] = N - m = 0$; that is T_φ normal. Conversely, if T_φ is normal, then by [Brown – Halmos [13]], there are scalars $\alpha, \beta \in \mathbb{C}$ and a real $\psi \in L^\infty$ such that $T_\varphi = \alpha T_\psi + \beta 1$. As T_ψ is a hermitian Toeplitz operator, the Fourier coefficients of ψ satisfy $\hat{\psi}(n) = \overline{\hat{\psi}(-n)}$ for all n ; in particular $|\alpha| |a_N| = |\hat{\psi}(N)| = |\hat{\psi}(-N)| = |\alpha| |a_{-N}|$, Showing that $|a_{-N}| = |a_N|$. Thus, $N=m$ and (16) holds.

3.8 Remark: For trigonometric polynomials φ satisfying the assumptions of theorem (11) the question of whether or not the Toeplitz operator T_φ is hyponormal is completely independent of the values the coefficients a_0, \dots, a_{N-m} of φ .

References

- [1] A. Browen and P.R. Halmos, Algebraic properties of Toeplitz operators, J. Regine. Angew. Math. 213 (1963/1964),89-102.
- [2] Cowen C.C., Hyponormality of Toplitz operators. Proc. Amer Math.Soc.103(1988), 809 812.
- [3] C. Gu, On operators commuting with Toeplitz operators modulo the finite rank operators, J. Funct. Anal. 215(2004), 178-205. MR2085114 (2005c:47033)
- [4] C. Gu, Some algebraic properties of Toeplitz and Hankel operators on polydisk, Arch. Math. 80(2003), 393-405. MR1982839 (2004e:47039)
- [5] C. Gu and D. Zheng, The semi-commutator of Toeplitz operators on the bidisk, J. Operator Theory, 38(1997), 173-193. MR1462020 (98g:47022)
- [6] Davidson. K R., on operators commuting with Toeplitz operators modulo the compact operators. J. Funct. anal.24(1977)291-302.
- [7] GUO K., Essential commutants of analytic Toeplitz algebra and some related problems, Acta Math. Sinica 739(3) (1996), 300 -313 [in Chinese] MR141 3350 (97i:47043).
- [8] KUNYU GVO And KAI WANG: on operators which commute with analytic Toeplitz operators modulo the finite rank operators, article electronically published on February 17, 2006.
- [9] W. Rudin, New construction of functions holomorphic in the unit ball of C^n , Conference Board of the Mathematical Science Regional Conference Series in Mathematics, 63(1986). MR0840468 (87f:32013)
- [10] X. Chen and K. Guo, Analytic Hilbert Modules, Chapman & Hall/CRC Research Notes in Mathematics, 433, 2003. MR1988884 (2004d:47024)
- [11] P. R. Hams., A Hilbert Space problem book, Springer, New York, 1984.
- [12] T. Nakazi and K. Tahahashi, Hyponormal Toeplitz operators and external problems of Hardy spaces, Trans. Amer.Math.Soc.338(1993), 753-769.